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1. Jack is baking.
He uses 14 jelly beans to decorate a cake and 5 jelly beans to decorate some biscuits.

How many jelly beans does Jack use altogether?
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2. Sahana is baking.

She uses 13 chocolate bears to decorate a cake and 5 chocolate bears to decorate some
biscuits.

How many chocolate bears does Sahana use altogether?
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3. There are 11 people with shopping waiting for a bus.
There are 7 people without shopping waiting for the bus.

How many people are waiting for the bus?
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4. Ryan has 3 cheese biscuits in a tin.
He opens another packet of 14 cheese biscuits and puts them in the tin.

How many cheese biscuits does Ryan have in the tin altogether?
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Answers

1. 19
2. 18
3. 18

4. 17
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